The equation
2+l + 2242 -4y+62=C

is a sphere of radius 2. What is C7
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The angle between @ = (2, —1,2) and b= (1,—1,0) is
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Ifa =<2,—1,4> and b=< 221>, find the f-component of @ x b.
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Find the area enclosed by the curves z = 2y — y? and x = y?
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The area between the graphs of y = z* and y = 2 is revolved around the z-axis. If the
disk/washer method is used, the integral representing the volume of the resulting solid is
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Find the volume of the solid obtained by rotating the region bounded by y = z? and
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An unusual pyramid of height 2 is sitting on the zy-plane. If the cross-section at a level
2 > 0 is a square of side v/2 — z, what is the volume of this strange pyramid?
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A force of 50 N is required to hold a spring that has been stretched from its natural length of
1 m to a length of 1.5 m. How much work is done (in joules) by stretching the spring from a

Tength of 2 m to a length of 3 m?
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